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. According to the permanent-income hypothesis, if consumers receive a one-time
income bonus, then they will:

A)

B)
&)
D)

not alter their consumption or saving in the current year.
spend most of it in the current year.

save most of it in the current year,

spend one-half of it and save one-half of it in the current year.

2. In asmall open economy, starting from a position of balanced trade, if the
government increases the income tax, this produces a tendency toward a trade

and net capital outflow.
A)  deficit; negative
B) surplus; positive

C)
D)

deficit; positive
surplus; negative

3. Along a short-run aggregate supply curve, output is related to unexpected
movements in the - Along a Phillips curve, unemployment is related to
unexpected movements in the

A)
B)
<)
D)

price level; inflation rate
inflation rate; price level
unemployment rate; price level
price level; level of output

4. If the Fed announces that it will decrease the money supply in the future but does

not change the money supply today: _
A) both the nominal interest rate and the current price level will increase.

B) the nominal interest rate will increase and the current price level will decrease.
C) the nominal interest rate will decrease and the current price level will increase.
D) both the nominal interest rate and the current price level will decrease.
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5. Suppose we know that, in Country X, 10 million workers are unemployed, 190
million workers are employed, and the adult population equals 300 million, then the

unemployment rate equals approximately percent.
A)333 B)5.26 C)5.00 D} 8.0%
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(1) ZOHBEEY x B y (NERIEE R ERA? (83%)
(2) WRZCHBEBNFE L HEEARNZERM? (8%)
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FeERa=07?(5%)
(3) BEEEE LTRSS, LFH 5 o WRIEEEEEZE? (4%)
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5.  Suppose you divide your life info two periods-working age and retirement age.

When you work, you earn labor income Y; when retired, you earn no labor
income, but must live off your savings and the interest it earns. You have no
initial assets. You save the amount S while working, carning interest at rate r, so
you have (1 + r)S to live on when retired. Suppose your consumption when
working is as much as your consumption when retired.

(a) Suppose you eam $ 4.2 million over your working life, and the real interest
rate for retirement saving is 10%. How much will you save, and how much
will you consume in each part of your life? (5 43°)

(b) Suppose your current income decreases to $2.1 million when working. Now
what will you save and how much will you consume each period? (5 47)

{c) Suppose a system of labor insurance will pay you 50% of your working
income when you are retired. Now (with ¥ = $4.2 miilion as in part (a)) how
much will you save and how much will you consume each period? (5 43)

6. Consider two countries that are otherwise identical (have the same sa\}ing rates
and depreciation rates), but the population of Country Large is 200 million, while
the population of Country Small is 20 million. Use the Solow model with no
technological change to answer the following questions:

(a) Which country would have a higher steady-state level of output per worker,
if the population growth rates are the same in the two countries? Explain
your answer. (5 47)

(b) Which counfry would have a higher steady-state level of output per worker,
if the population growth rate is higher in Country Large? Explain your
answer. (5 47)

7. Suppose the government decides to decrease government expenditure as a means
to cut the existing government budget deficit. Assume the economy is at its
long-run equilibrium. Use the aggregate demand and supply (AD-AS) analysis to
explain the short- and long-run consequences of this policy. (10 473)




